RENTAMIN FRANKLINT

/ YES?
T BRING A MESSAGE
FROM THE FUTLRE!
T DoN'‘T HAVE MUCH TIME. WHAT IS 117

l
THE CONVENTION YOURE SETTING
FoR ELECTRIC CHARGE 1S BACKWARD,
THE ONE LEFT ON GLASS BY SILK
SHOULD RE. THE MEGATWVE CHARGE.

WE WERE GOING To USE THE TIME MACHINE To

FREVENT THE ROBST ARDCALYPSE, [BUT THE
GLY WHO BUILT IT wWAS AN ELECTRICAL ENGINEER.




RC Circuit

* The capacitor has no charge. The switch is
closed at t = 0. What is the voltage on the
capacitoratt=0*"?
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RC Circuit

* The capacitor has no charge. The switch is
closed at t = 0. What is the current through
the resistor att =0*?
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RC Circuit

* The capacitor has no charge. The switch is
closed at t = 0. What is the current through
the resistor att =0*?
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RC Circuit

 What is the voltage across the capacitor at
t=100ms?
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RC Circuit

 What is the voltage across the capacitor at
t=100ms?

01F
A0 /0—+
B 3.7V J_
C 5V 10vV— 10 Ohm
D 6.3V
E 10V
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RLC --what does this cicuit do?

€ VW o

Z,,c athigh VvV C — L
frequency =2 ? )

A. O
B. oo
C. 1/v2



RLC — what does this circuit do?
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